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Copy and complete each problem below. Set your working out clearly as you have been shown.
Round to 2 d.p.

[1] 531 +5= [2] 600 + 5 = [38] 706 + 5 =
4] 711 + 8 = [5] 763 +5 = 6] 836 + 6 =
(7] 607 + 4 = 8] 657 + 3 = [9] 780 + 4 =
[10] 738 + 4 = [11] 796 + 4 = [12] 849 + 6 =
[13] 654 + 5 = [14] 758 + 4 = [15] 849 + 6 =

[16] 585 + 5 = [17] 680 + 5 = [18] 719 + 4 =



ANSWERS
Division

Copy and complete each problem below. Set your working out clearly as you have been shown.

Round to 2 d.p.

[1] 531 +5

[4] 711

[7]1 607

[10] 738

[13] 654

[16] 585

106.20

88.88

151.75

184.50

130.80

117.00

[2] 600 + 5
[5] 763 + 5
[8] 657 + 3
[11] 796 + 4
[14] 758 + 4
[17] 680 + 5

120.00

152.60

219.00

199.00

189.50

136.00

[3] 706 + 5
[6] 836+ 6
[9] 780 + 4
[12] 849 + 6
[15] 849 + 6
[18] 719 + 4

141.20

139.33

195.00

141.50

141.50

179.75



